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Regents Questions — Scientific Notation = |y, miFi g

1 What is the product of 8.4 x 10" and 4.2 x 10* written in scientific notation?

A|20x10°  -Bi3s28xm0t —€exI0” @ 3.528 x ;o“

A LI AY
S:_.L 2 )O¥ 10 =10
35,28 2,28
2. What is the quotient of 8.05 x 10%and 3.5 x 10°?
" A 2.3;'10". B} 23x10 - () 2.3;10”— @2.3x10"*

<. .
38| ) O Y
\5—&1\2"5 S - /0
108

1¢
4
. 310

Oct 19-11:22 AM

3.  Whatis the product of 12 and 4.2 x 10° expressed in scientific notation?

!{% f)/SG.liKlﬂE /BfSOAxlﬂ’ Q) 5_04;105 @ 5.04 xl m?
_SQJ‘-\' | ,Oo "/OL; IO6 +\

A 1f3.85x 10%is divided by 385 x 10°, the result is

—nj—sﬁwﬁL B]0.01 @ —DI3BEKI0

2-*
X yx /0
386@ /64' =]0 &
-0l l x2L
0= QL 10

| x (Q°
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5.  Whatisthevalueof 6.3X10° inscientificnotation? 3 @—’5_
3X10°* : i ‘
L3

Al21x10° - B]21x10° C21x10° '.'%”0

< 6. > If the mass of a proton is 1.67 % 10 24 grams, what is the mass of 1,000 protons?

_ A] 167 x10%2 - 8] 1.67;;15"3 C] 1.67 xlﬂz_"-@i.ﬁ?-xlﬂn-'
®m\1«1@‘3 -
2)1000 > 1o (sa. N&)
@NU\HP\_‘} Q.Qﬁxlé“) x('* | @
16T % )0

Oct 19-11:23 AM

Scientific Notation Practice

. Alight year is approximately 9, 500, 000, 000, 000 km. Write this number in
scientific notation.

2. | afim, the image of each picture remains on the screen for approximately
6 x 107 seconds. Write this number in ardinary notation.

Oct 13-11:45 AM
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" Find the hew exponeni.

3. 43x10'= 43x10— . 4 275x10%= 27.5x 10—

5. 6.02x10%=602x10—

P L (P

Oct 13-11:45 AM

% The United State purchaseﬁl Alaska from Russia for $T;20q,ﬂgﬂ'in 1867. If
Alaska’s total area is about 3.78 x 10°. What is the approximate cost of one acre?

. ] g ar oy

g i '
st

7. Japan has a population of 124 million and an area of 3.7 x 10° square kilometers.
What is the population density of Japan? - 3

Oct 13-11:45 AM
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8. The United-.—Sta,te-'s _‘is_ab_oui 297 million and an area of 3 x 1'Dﬁ__squé3r3'_mi'lgés. What
is the population density of the US? et

wra il

a - The spéea -'r;‘ﬂ'light is éppro‘ximately 3x 10 ® km/sec. The distance from ti)e Earth
" to the siin is approximately 1.5 x 10 ® km. About how long does is take light from
the sun to reach the Earth?

Oct 13-11:45 AM

8 - .
. "éﬁf&“«xf  — ¥ Solve real world problemns involving very large “‘;
o . or very small numbers (8.CE.4) .
v Solve reai-world problems when numbers are
given in scientific netation (8.EE.4)

o ——

— i

Strategy:

1) Read each question carefully.

2) Decide which operation(s) rz:::;wr.\. J('() SC'(- '\Q'\-O\'\'.lﬁ‘\ b& \“\l .
3) Solve the problem. —{FOF *I~ ) e\‘Pémv\'k% f"\u&(‘ ANV,

4) Check to make sure that the answer makes sense,

- For X ,mult. digts,ad deypanants
- For . diviole c\\'e\:)\R,Sdghvc*-«xFomq{s,

Oct 19-11:22 AM
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Example 1 : A rectangular section of the Adirondack Park is being set aside for a new campground. lts
dimensions are 4.2x 10" ineters by 6.0= 10" meters. Find the area of the land in square meters,

MW H—iP\(Co\Jc( >N\
,€_s< 0\)

( 1\1/0)((» OX/0>
S__{.&F_\__ __412___ £
4.2 16°%10° =10
335.3 5.2 x/0
2.50 x 10

Oct 19-11:22 AM

Example 2/ One microgram is equal t0 1< 107 gram. If the mass of a substance /s 5.6 x 10" micrograrms,

what is ity mass in grams? - .
mu 1+ Fh Catno

(/y/o“'X 5. b w66>

Oct 19-11:22 AM
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2300

3] A box confains 2510 pleces ef ﬂymfoam If the mass of each piece of Styrofoam is 3+10 *
kilograms, what is f.’?e total mass of the Styrofoam in the box?

mu |+'.pl;c«+iu>

(25 Y10 >(3*’D—4>

Sep L @’@/4!
D5 (0 Ix10 -

*3 A
05 7.5 %10 J’r

Oct 19-11:28 AM

4) New York State has appm.wmatel} 19,000,000 people living in it. If the population of the
United States ir approximaiely 510", how rmny {imes greater is the population of the United
States than the population of New York State?

WS Division | ]Wj
.\j /'4)(/0

3/ﬂ/.(>-— | .5 437.
/,qxlb > 0
(2571
) —
1.5‘75?-.- X/O ”O
»ﬁ/’i;);
(23
._[—:5/(70
X
(%0
121

Oct 19-11:28 AM
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PRACTICE PROBLEMS: WORD PROBLEMS WITH
SCIENTIFIC NOTATION

For the following prablems: 1. Use scientific notation.
2, Don't forget UNITS!

3. Show your work,

1. The-pody of @ IBUTrPRrson contains 2. 3 x 101 Ib of copper. How much
cepper is contained in the bodies o 1200 such pec-ple? _ MU ‘ + V‘ j

<:?’3z<104 (2%“)) 07.3 (/84 pﬂs}.

(9-3%10 2 [6'
- b
g,’iL ¥ 10 g o
- g’)b -——2—’/_
9.7 %

st’*"'
‘2. The speed I:gh’r is approximately 3 x 10°m/s. How far does light travel in

(I&Zi;w (3><lb >(é ></0>
$¥9\
GO YV\P}\ j‘f—(_ /0 /0
XQ hrs 3eL-B 10
r 541
|2O VV\\(LQ /@’(/D 4 J:t"’
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3 A camputer can perform 4.66 x 10° calculationsper secend. How many m IA‘ *" ?’ ‘j
calculations can this computer perform in one minute?

Ex be/o (M
Read 4 Paba\davj 4&&*‘/0 gx/o M
HOW Ma“j ?°§M >

A A U\“&k.
447-38 R
qla
2790 XIO
9. 7490 X 10 &.Lb

/Dx/O"D

27

Oct 19-11:21 AM

4. The size of the Indian Oceenis 2.7 x 107 square miles. The Arctic Ccean is
1/5 the size of the Indiun Ocean. How big is the Arctic Ocean?

N % 2. ‘7)</Z>_74
T have 20 S 9%10°

Js - 2

give \f 0 /s E; i"if——'
5195) "

20 _

545@
j#xm
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5. The s

2 Ve 4 e

M A

——

300 Mo
(6O mph

Jima?

syxd

f light is 3'x 10% m/s, Tf the sun is 1.bx 10" meters from earth,
how fmany seconds does it take light to reach the earth?™— ——

o((S(-O\V‘(Q

] 5‘0‘00( -l-l
/.S %10

o\ - e
3%/0 &O/z

&5 Skf_z
L] " 3
S et

510 = *
) [0 =50 *I0

. 4ist
mse

Oct 19-11:27 AM

| 2 <

3

lmm = 5 x4

6. A Irrer is equal to 1 x 10° mm®. There are roughly 5 x 10° red blood cells in 1

mm® of human blood. How many red bicod cells are there in a liter of human . [
blood? m_M_LLLM—-
[ %0

)

¢ 2.
Syt

C’Q“&

Oct 19-11:27 AM
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7. Lake Superior has reughly 25 times the volume of Lake Erie. If the volume
of Lake Superior is approximately 1.22 x 10% kim?, what is the approximate
volume of Lake Erie? :

Oct 19-11:27 AM

scientific Notation Word Problems

1. The particle of dust has a mass of 7 53 x 10 kilograms. “ind the weight of 5 billion dust particles. m “ l + .

2. The distance from the sun to the Andremada galaxy is 1.2 x 10* miles. Light travels a a speed of 5.88 x 10" miles
peryear {called a Ight-year). low lung dues it take light to travel from the sun to the Andromeda galaxy? D°' Vls, 'DV'

Oct 19-11:24 AM

11
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3, Tha mass of the sir is 1.989x10% kilograms. The mass of the earth is 5,.98x10™ kilcgrams. How many times
2 it o o
bigger Is the sun than the earth? 'D \ Vi A)_,

/.78%/03"
35.9% x4

Oct 19-11:25 AM

b
[ X1D 'z 290-9 % ID
WLMWQMWHIMM G-ttt
at was the average amount spent rson on health care? . °
What was the averag tsp E.-:rpeso | ’D“I(\g';
12 '
|.77%/0
/

F0G x10”

Oct 19-11:25 AM
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5. The populaticn of Mathvilie is 5.6¢10° The population of Algeville is 1.3x10", How many mae peaple are there in
Alpeville? —

subtractore

Oct 19-11:25 AM

6. Thore are 3.4x107 particles of dust per cubic meter. How rmany paricles zre there in 3 renm that is 1200 cubic

v lFigly

Oct 19-11:26 AM
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7. There are approximately 3.1 x 10® people in the Uaited States, If or average each person has 4.1« 10° ccing yving
around on dressers, in packats, in cars, ate., how many total coins do &l the penple in the U.5. have?

mu(ﬁﬂ‘(

Oct 19-11:26 AM

8. By area, the former U.5.5.R. was the largest country, having 8.649x10° square miles of land. At this time Canada was
the second fargest country In the world. Canada has 4.797x10" square miles less area than the former U.S.5.R How big is

Canada in terms of lan.f_?ff_a.' . Sub.} raw” re

Oct 19-11:26 AM
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9. If a computer can perform an acdition operation in 1.5x10°* seconds, in how much time can it perform 1500 addition

operations? m M ( {_-' vly

Oct 19-11:27 AM

Scientific Notalion Word Problems

Solve the following word problems,

1. An analysis was done on one quart of pond water from the local park fo see if it was safe
for swimmiog. Dr. Andropols counted 1.3 = [0° bacteria in the one quart. Express this in
standzrd notation.

2. Using Lhe scientific natation number in problern one, write the same qumber tiees 1,000 in

seieniilic nomtion

Oct 19-11:25 AM
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3. Jeil Greenly is an asparagus farmer, Lo one year, Mr, Greenly harvested 82, 300 pounds of
asparagus. Frpress this number i seentfe notation,

4, Using the pounds of asparapns harvested in problem nwnber three, express o scieatific
notation how many pounds would be harvested in ten years, if Mr. Greenly harvested aboul the
same number of pounds cach year.

Oct 19-11:25 AM

3. The thickness of one pixie wing is 4.5 = 107% inches. Express this as a conventonal number,

. Planet Zorton is 48, 820, 000 miles fiom planat Aerbon, Express this distance in scientific
notation,

Oct 19-11:25 AM

16
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7. Tor one bottle of perfuiie, the perfume manyfacturer needs 7, 260 pounds of flower blossoms.
Express this amount in scientifc notation.

8, If the sawe manufacturer of perfiime in problem seven made 10, 000 bottles of perfumne,
how many pounds of Jowers blogsonis would be required? Express your answer i scienbific

netation.

Oct 19-11:25 AM

3. The thicknesn of ene grain of pepper is 2.3 = 10-? inchar. Exprens the thicknerr of ane grain

of pepper as a convenlionz] number.,

190, It takes 210. D00 seedlings a vear 1o replace the lrees harvesied by the Perlvet Papermill
Company. Express this number ir scientific notation,

Oct 19-11:26 AM
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11. The Bartl meoves around the sun at 6.7 % 10" miles per hour. [Tow many miles dees the Carth
travel after 2.4 x 107 hours {or 100 days)?

12, There are 3.949 = 10° miles oi toads tn (ke Lnited States, [, on aversge, 1.4 x 10* cars went
over 2ach nile of voad per day, how many miles would be drivon cach day in the United States?

Oct 19-11:26 AM

18
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